THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION

20

(C) cOPYRIGHT 20

BY TYCO ELECTRONICS CORPORATION

ALL RIGHTS RESERVED.

[SOMETRIC VIEW

| SCALE T

(U

4“':::'ﬁ] é;éég ) 1 10

| J N 740 A N

1]\

i ,
. )
E
(84 9) 44— — - - - -
JAYA)
P D
Y (3.0) 4}
(29.0) f=at———
- (53.0) — =

REVISIONS
P LR DESCRIPTION DATE DWN | APVD
B REVISED PER ECO-12-019524 08NOV2012 | DS | YS
REVISED PER ECO-14-003383 06MAR2014 | DD | JS
REVISED PER ECO-14-014244 18SEP2014 | DD | JS
E REVISED PER ECO-14-016912 07TNOV2014 | DD | JS

ZZEL M6-1 THREADED STUD
TS TO0Nm0. 5Nm

TORQUE LIMI

ZZEL M6-1 THREADED [NSERT

TORQUE LIMI

THREADED BUSHINGS

TS: 9Nm -

FROM THIS SURFACE.

(4X)

I TNm

ZZEL HVIL CONNECTOR RETAINING LOCATIONS
HVIL CONNECTOR:

153411
[-153411

2-1 (RETAINER;
3-1 (RECEPTACLE HOUSING;

HVIL CONTACT:

928999-6

MQS ;

(SOCKET CONTACT;

2P)

MQS; Ag)

ZZEL MOUNTING SURFACE THICHNESS (MAX): 6.2mm

MQS; 2P)

HEAT STAKED FLUSH TO MAX 0.40mm DEEP

ZZEL SURFACE FINISH AND FLATNESS APPLY WITHIN BOUNDARY SHOWN.

6. [NNER HOUSING MAY BE ASSEMBLED ROTATED 180°

ZZEL ASSEMBLY / WORK INSTRUCTIONS: 408-10377
A NOTE DELETED

ZZEL SEE SHEET 2 FOR FUSE RATING MARKINGS AND KEYING CONFIGURATIONS.

A SURFACE FINISH IN MICRONS (um)

FROM AS SHOWN.

M6 THREADED INSERT 1-1587987-7
M6 THREADED INSERT 1-1587987-4
IR | Cisree 3
M6 THREADED INSERT 1-1587987-1
M6 THREADED INSERT 1587987-9
M6 THREADED INSERT 1587987-8

DESCRIPTION PART NUMBER /9
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN IOMARZ2010
G. COTTER o o
DIMENPSEIRONAISNMGE AYN1D4 -TSOMLiEEROAONgclNG o TOVARZ 070 P TE TE Connectivity
DIMENSTONS: TOLERANCES UNLESS A BOYER
OTHERWISE SPECIFIED: APVD TOMAR2010 [NaME
mm W&WEQ£WTT RECEPTACLE ASSEMBLY
0 PLe il MANUAL SERVICE DISCONNECT
@E}{::::}; ST 108-127000 ,
3 PLC +- APPLICATION SPEC
4 PLC +- 7 SIZE CAGE CODE |DRAWING NO RESTRICTED TO
ANGLES +- -
MATERIAL ] FINISH ] WEIGHT 320 344 AZQO779@‘:W587987 B
B B CUSTOMER DRAWING SCALE SHEET 0F3 REV E

1471-9 (3/13)




4 3 fa 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 ‘ REVISIONS
(C) cOPYRIGHT 20 BY TYCO ELECTRONICS CORPORATION ALL RIGHTS RESERVED. ‘ 7w SECTRTE TN SrTE T

‘ | SEE SHEET |

1587987-8 1 1587987-9

FUSE RATING: 200A ‘ FUSE RATING: 250A

I |
‘ (15)
| X |
(19) ‘

1-1587987-1 1-1587987-3 |

FUSE RATING: 350A ‘ (WITH DIVIDER RIB NOTCH)
‘ | THIS DRAWING IS A CONTROLLED DOCUMENT. [PWN 1OMARZOTO
‘ G. COTTER - o
‘ DIMENPSEIRONAISNMGE AYNtzx .TSOML—EzRvoNemNG CHK IOMAR2010 — TE TE Connectivity
‘ ‘ DIMENSTONS: TOLERANCES UNLESS A . B<>Y ER
OTHERWISE SPECIFIED: APVD TOMAR2010 [NaME
| | o "1 Ao FuiT RECEPTACLE ASSEMBLY
3 R MANUAL SERVICE DISCONNECT

\ e © [l |
. ENEEES i: . B Z{ijil SIZE CAGE CODE | DRAWING NO RESTRICTED TO

1—1587987—4 : 1—1587987—7 ‘ MATERTAL i FINISH i WEIGHT 320 34g A 2 00779 ©:1 587987

FUSE RATING: 630A ‘ SHUNT ! _ B CUSTOMER DRAWING SCALE . SHEET 20F3 REV r

1471-9 (3/13)




THTS DRAWING 15 UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISTONS
(C) cOPYRIGHT 20 BY TYCO ELECTRONICS CORPORATION ALL RIGHTS RESERVED. S o DESCRIPTION DATE DWN | APVD
SEE SHEET 1
C
4xB6 . 68+L0 . 20
& Q0. 500 | A B |C
’X 47
’X 34 .8 {
L N
\’
AXIR 22.35 -
X 2. 03
~— 44 05—
-~ [88.09 .
C
A 3.7 4
{ [=T0.30] A
PUNCHJ SECTION A-A *
DIRECTION
MOUNTING INTERFACE SPECIFICATION
~ [own 10MAR2010
THISD?GQLNPSIEINRSNAQN;GEAAYNWCDjNTSEME%OkON?INDGOCUMENT CHE- ;glg?*w”?mo -:TE TE Connectivity
DIMENSTONS OTHERWISE SPECITIED:  |APVD LOMAR2010 [name
mm | BOLEWIT RECEPTACLE ASSEMBLY
0 PLC . PRODUCT SPEC
@ | e : 108-127000 MANUAL SER\/KEE DISCONNECT
: 3 PLC +- APPLICATION SPEC
iNZfEs +- . ) A SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
MATERIAL ] FINISH ] WEIGHT 320 344 AZQO779@‘:W587987
. CUSTOMER DRAWING SCALE Lo SHEET 30F3 REV r

1471-9 (3/13)




	Sheet 1
	Views
	new_view_1
	right_2
	right_3
	new_view_5


	Sheet 2
	Views
	new_view_10
	new_view_11
	new_view_15
	new_view_16
	new_view_18
	new_view_19


	Sheet 3
	Views
	new_view_13
	bottom_14



